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<C3> RATIONAL EXPRESSIONS

Answers - Worksheet B

I a 33+ 2 — 1
x—4)3x —10x° — 9x +15
30 — 1247
2% — 9x
2% — 8x
- x +15
- x+ 4

11

quotient: 3x*+ 2x — 1, remainder: 11

¢ 27X - x+ 6
2x+5)4x° + 8 + Tx +32
4x° + 10x*
- 2+ Ix
- 2% — 5x
12x +32
12x +30

2

quotient: 2x* —x + 6, remainder: 2

2 a let fx)=x"+4x*+x-6
f(-2)=-8+16-2-6=0
s (x+2)is a factor

b ¥+ 2x— 3
x+2) ¥+ 4P+ x— 6
o+ 2
25+ x
2%+ 4x
— 3x -6
— 3x -6

XA+ x—6
=(x+2)x* +2x-3)
=(x+2)(x+3)x-1)

_ (x+2)(=+3)(x-1

(x+3)(x—-3)

_ (x+2)(x-1)

B x—3

b ¥ - 5x— 3
2x—1)2¢ —11¥" = x + 3
2 - X
—10x* - x
—10x* + 5x
—6x + 3
—6x + 3

quotient: x” — 5x — 3, remainder: 0

d _2*— 6x+ 4
3x+2)-6x° —22¢" + Ox + 1
—6x° — 4x
— 18" + Ox
—18x% — 12x
12x + 1
12x + 8

-7

quotient: —2x* — 6x + 4, remainder —7
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3  a let flx)=2x"-5x*+13x-15
f(3)=2 -5 +2 _15=0

4 4 2
- (2x — 3) is a factor
b - x+ 5
2x-3)2¢ — 57 +13x — 15
2 — 3x°
— 2% +13x
- 2+ 3x
10x — 15
10x — 15

27 =5+ 13x - 15
=2x-3)(*—x+5)
.2 =5x2 +13x—15

2x*—7x+6
_ (2x-3)(x*—x+5)
T (2x-3)(x-2)
_ x2—x+5
B x=2
4 a x—1
b ¥+ ox+ 1
x—l) ¥+ 0+ O0x — 1
¥ - X
X+ Ox
X - x
x — 1
x — 1

X —l=x-DE+x+1)
-1 _ (=D +x+])

Xl 4+x=2 (x=D(x+2)
_ x+l
B x+2
5 2x+5 _ 2(x+3)-1 —2_ 1
x+3 x+3 x+3
s A=2,B=-1

6 g —@tDHl_ 1

x+1 x+1

¢ = U-o+l _ 1
1-x 1—-x

e =2@-D-5 1
2x—1 2 202x-1)
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_ (x=2)+5 _ 1+ 5
x—2 x—2
—2x+2)-3 _ 5 3
x+2 x+2
_ 203+2x)+7 _ 7
3+2x 3+2x
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7 a 1 b 2
x2+x+2) ¥ +3x+ 5 xz—x—4) 2+ 3x — 8
X+ x+ 2 27— 2x - 8
2x + 3 S5x
quotient: 1, remainder: 2x + 3 quotient: 2, remainder: 5x
c 1 d 3
x2+3x—1)x2+0x+ 7 x2+2)3x2— x— 4
X+ 3x - 1 3x*+ Ox + 6
—3x + 8 - x-=10
quotient: 1, remainder: —3x + 8 quotient: 3, remainder: —x — 10
e y— 3 f 2x+ 3
FHx-2)x -2 —5x + 8 X=5x+1)20 — T+ O0x + 1
X+ X - 2x 20 —10x* + 2x
-3 - 3x + 8 3x — 2x + 1
—3 -3x+ 6 3x* —15x + 3
2 13x — 2
quotient: x — 3, remainder: 2 quotient: 2x + 3, remainder: 13x —2
g x+ 2 h x + 7
3 +4) 3 +6x° — 2x + 5 27 —5x—-2)6x — x —44x — 6
3x° + Ox® + 4x 6x’ —15x* — 6x
6x° — 6x + 5 14x* —38 — 6
6x° + Ox + 8 14x* —35x — 14
- 6x — 3 - 3x + 8
quotient: x + 2, remainder: —6x — 3 quotient: 3x + 7, remainder: —3x + 8
8 a x + 2 9 a X — 4

x2+3x—4)x3+5x2+ Tx — 13
X+ 3 — 4x

2% +11x — 13
2% + 6x — 8
5 — 5

. =x+2 remainder 5x -5

5x-5
X2 +3x—4
S5(x-1)
(x—-D(x+4)

b LHS=x+2+

=x+2+

=x+2+

x+4

X +2x—15) X = 2% —21x +70
X+ 2x* — 15x

—4x* — 6x +70
—4x* — 8x +60
2x +10
2x+10
S ) =x—-4+ —————
(x) . x2+2x-15
a4 2D
(x+5)(x-3)
=x—4+ 2
x-3
p 37 _3-3+2 4, 2
x-3 x—3 x—3
. _ 3x-7
. f(x) 3
= x—4+ 2 =34+ 2
x—3 x—3
x—4=3
x=17
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